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Show all your work.

1. (23pts) Solve the equations.
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2. (6Gpts) Solve by completing the square.
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3. (4pts) Solve the equation.

|3z — 1| = 13

D= =15 e
D= 1E
;{':; .-'I__Tq_ &y

(o

4. (12pts) Solve the inequalities. Draw vour solution and write it in interval form.
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5. (15pts) A landscaper plans to cover two rectangular areas with stone tiles, of which she
has enough to cover 20 square feet. One of the rectangles has width 2 feet more than the
other, and both rectangles have lengths that are 1 foot more than their respective widths.
Assuming the landscaper uses up all the tiles, what are the dimensions of the rectangles?
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